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from space
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from space
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marking deque




| 241 (overflow)

overflow

marking deque
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| +4 2 Heapsnapshot

< Root BINHEITEMNIZTHNRIEINS I HXR

: global £1279 ' 1 40 0% | 4462704 79 %
mx 11(6C Fones) i - 0 0% 114960020%
»[3] :: (Strong roots) &9 - | 0 0% 331112 8%
» [11] :: {Dispatch table) @25 - | 0 0% 305496 &%
»[1] :: (Internalized strings) @5 - 0 0% 136744 2%
»[9] :: (Compilation cache) @21 - 0 0% 79624 1%
» [12] :: (Builtins) @27 - 0 0% 79280 1%
» [13] :: (Global handles) @29 - 0 0% 28284 1%
» [12] :: {Handle scope) @23 - 0 0% 0 0%
» [14] :: (Eternal handles) @31 - 0 0% 0 0%
[15] :: (Thread manager) @33 - 0 0% 0 0%
[16] :: (Strong roots) @35 - 0 0% 0 0%
» [17] :: (Extensions) @37 -| 0 0% 0 0%
»[2] :: (External strings) &7 -! 0 0% 0 0%
(4] :: (Smi roots) @11 - 0 0% 0 0%
[5] :: (Bootstrapper) 213 - 0 0% 0 0%
» [6] :: (Isolate) @15 - | 0 0% 0 0%
[7] :: (Relocatable} @17 - 0 0% 0 0%
[8] :: (Debugger) @19 - 0 0% 0 0%
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writeSnapshot B8 SEEEE

const path = require('path');
const heapdump = require ('heapdump') ;

setTimeout (function () {

kill -USR2 <pid>

heapdump.writeSnapshot (path.join(_ dirname, './')

+ Date.now() + '.heapsnapshot');
}, 30 * 1000):;




path

v8Profiler require('v8-profiler');

o & tion ()
onst snapshot v8Profiler.takeSnaps
snapshot . expo {£un: n (error,
console.log(result);

snapshot.delete();

00) 7

t (func m () |
const snapshot vB8Profiler.takes:

transform snapshot.

transform.on('data', data » console.log(data));

transform.on('finish', snapshot.delete.bind(snapshot)):;

)?




| 3KBX Heapsnapshot (Node.js M4BEF

1 7 5 O RN G /tmp/heapdimp-1750-20180320-194703.heapenapshat =n ok 1 ] e »y R
Nooe 1ast-alingda s 6 1012608304006121 o @ @ @ e
WIS TSI U0 s ¥ 20080329 W¥4703 SIG EH allyurcall- 1888580000843 ool P, tduvioons)
BEa1R NEPFEEE
13:05:28 19:46:59 | appium{ZlhR) > HEHREE: heapdump-1750-20180329-194703 heapsnapshot
2018-03-18 2018-03-29
= AR L RSS RN Shaliow See B2
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GC MRSt Timar 8§
0.00% 1 AEERR R N MRRRLE
M g’nm o\ RS
73 flouv SRR
0 2 Class Name
| Q RELH | | B RABE I » system / Context 394 /059
» NativeMoaoule bootstrap_node.je BEE62503
VS RERE

» system / MatwveContext @12740
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| Heapsnapshot $UEZEHI1EAR

{
snapshot: {} sy ——

describe node & edge

nodes: [ edgel
edges: [ node2 ‘\WdG&edge’s name
strings: [] edge?

\“

}

node3



| Heapsnapshot IE4L#1%fZ ( snapshot )

< meta.node_fields: &< — node ZfrKE, TTERRES

'trace node id' ]

!

node fields: [ 'type', 'name', 'id', 'self size', 'edge count',

(LAY EBY, ZE—A type 2— 2

< meta.node_types: —1" node &

'string', 'number', 'number', 'number', 'number', 'number' ]

node types: [ [Array],

+ meta.edge_fields: IREEN—" edge XFrK/E, THEAKEEX

edge rields: [ 'type', 'name or index', 'to node' ]

< meta.edge_types: 88— edge FEH—NIMEE, F—1] type 2— 1%

edge types: [ [Array], 'string or number', 'node' ]



| Heapsnapshot B4 1¥#2 ( node 1 edge FISTRI X R )

nodel node2 node3

edge_count: edge_count: edge_count:




| Heapsnapshot #E4E#91%E2 ( node #1 node RIS XA )

edge

nodel _>_» node?2
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| EattRE (WEE)

please inputl node address ‘

Edges:
* SYNTTETICROOT @1 (type: synthetic, self_size: 0.00 Bytes)

* [1] :: (GC roots) @3 (type: synthetic, self_size: 9.00 Bytes)

» 2 :: global @1223 (type: object, self_size: 40.00 Bytes)
[3] :: SIGNALWRAP @2389960620 (type: synthetic, self_size: 0.00 Bytes)
* [4] :: TTYWRAP @3958813572 (type: synthetic, self_size: 0.00 Bytes)
» [S] :: HTTPPARSER @1050238604 (type: synthetic, self_size: 0.00 Bytes)
[6] :: TCPWRAP @689006112 (type: synthetic, self_size: 0.00 Bytes)

v

Retainers:
* SYNTTETICROOT @1 (type: synthetic, self_size: 0.00 Bytes)




| Bt S (ZEEH)

please input node addrass ‘ +

Edges: <:;;>
* SYNTTETICROOT @1 (type: synthetic, self_size: 0.00 Bytes)

* [1] :: (GC roots) @3 (type: synthetic, self_size: 9.00 Bytes) /
» 2 :: global @1223 (type: object, self_size: 40.00 Bytes)

[3] :: SIGNALWRAP @2389960620 (type: synthetic, self_size: 0.00 Bytes) Q Q Q
* [4] :: TTYWRAP @3958813572 (type: synthetic, self_size: 0.00 Bytes)
» [S] :: HTTPPARSER @1050238604 (type: synthetic, self_size: 0.00 Bytes)

[6] :: TCPWRAP @689006112 (type: synthetic, self size: .00 Bytes) <:;;;;> <:;;;;>

Retainers:

v

* SYNTTETICROOT @1 (type: synthetic, self_size: ©.00 Bytes) Q



| E0HRA (GC roots)

please input node address ‘

Edges:

* SYNTTETICROOT @1 (type: synthetic, self_size: 0.0@ Bytes)

- [1]

» [1] :: (Internalized strfings) @5 (type: synthetic, self_size: 0.00 Bytes)
» (21 :: {External strings)
« [3] :: (Strong roots)

»

»

:: (GC roots) @3 (type: synthetic, self_size: 9.00 Bytes)

@7 (type: synthetic, self_size: 0.80 Bytes)
(type: synthetic, self_size: 0.080 Bytes)
free_space_map :: system / Map @39 (type: hidden, self_size: 88.00 Bytes)
one_pointer_filler_map :: system / Map @41 (type: hidden, self_size: 88.00 Bytes)
two_pointer_filler_map :: system / Map @43 (type: hidden, self_size: 88.00 Bytes)
uninitialized_value :: system / Oddball @45 (type: hidden, self_size: 48.80 Bytes)
code_coverage_list :: system / Oddball @47 (type: hidden, self_size: 48.00 Bytes)
the_hole_value :: system / Oddball @49 (type: hidden, self_size: 48.00 Bytes)
null_value :: system / Oddball @51 (type: hidden, self_size: 48.00 Bytes)

true_value :: system / Oddball @53 (type: hidden, self_size: 48.80 Bytes)
instanceof_cache_answer :: system / Oddball @55 (type: hidden, self_size: 48.00 Bytes)
empty_string :: @857 (type: string, self_size: 24.00 Bytes)






If (Iclient) {
client = Client.create({
refreshinterval: i
requestTimeoult: Sl

client Client.create (|

urlllb. urlllb refreshInterval: 30000,

requestTimeout: !

}) urllib: urllib
b}

client.on('error’,

1;

turn HomeContreller;




| EventHandle
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Class saeme
w Cliant (345073
w Eventiiandlars @4c0?8
w Array [@AGOES
{rtemal array - chject elemants] 1520227
> function /homeiess sump g S g angigp e ass sl / home s $66187
» lunction /hameiyi = S Ay e T Sl T * e sl / home s 900185
» function /Aamasei w s aaiein " meh-Safvm ot S w o) / home 5 46151
@3 @ lww_il @ Imap_used b IUrClon Mhome ee =  mm pmw - e e e e )/ hove 5 D0613)
P R ton Hame e e g " e y— s w) / hore p §6 7917
» function /home/SRs TSR gD R e M) / home 5 @ 1508559
b furction /homaier e S RIS Tl aieian e e tars o J home. s @6 7195
5 WrCHON /AOME e i g e S (] ) hOme. 5 1517213
p turction homa s s g g St | / home. s 31055173

u
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BB 1

"Client"3Lfj|"@46073" 5F7204,100,080 (86.52%)FT . HAGZEIERRLE "Array"2]|"@46089".
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Array
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home.jS()@3454

context

Client@4607

_events

EventHandlers

erro

< <

array

<5

f {(!client)

client Client.

refreshinterval: 3

requestTimecut:

urllib: urllib

n HomeController;
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a = require('a");
b = require('b’);
c = require('c');

require.cache[require.resolve('a’)];
require.cache[require.resolve('b"];
require.cache[require.resolve('c)];

./Operator.js');

OperatorMenu

Model .prototype.getS:

where
service],

userid]

turn school.find() .where(where) ;

e require.cache[require. r:
& require.cache[require.:
require.cache[require.:

¢ require.cache[require.:
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delete require.cache['mod1-v1’]

require(‘'mod1-v2’)

node #F2




MSEREE

wModule 214727
voulldres i3 Array seinms
* J155] 11 Module @iaryees
sparent :: Madele QL4710
pehildrem : Arewy 212

@000 I 3272000 0N ATENZR N
O% 1Tzt em N w
0% 172301 056 61 W
O8] 15870 'w
0% 123688 1w
s 083 1IN

bexgorts i1 Model JLUTTLT D/ comman/sodel s/ Operatar, f5f) BSRITLT 0% 10 0w

ppathy i: Arrep 4200739 0% 84 0w

b_proto__ i: @TM) UN| 58 0w

PR i systes / Map @70 0% 26 0w

2018-03-16 13:23 wiilename ) MEHCLLL Sivcommon/mede LS /0peratar, §5T #LI5655 Un (SRR
. bld o VLo el O Ll oy medela /lperator. §4* HLISESS 0N 64 0%

o rss 458.0LMB bloaded :: systes J Ddeall 50 0% o 0w

O%| 1508258 ' %
0% 172341008 61 ™
0% «&@3se 0x

v [144] :: Module 21115981
»parent 11 Modale #1477
231 7w8 pchilsren 11 Arrmy Q1525807

rexports |1 Model L 2o cil S/ csesen/sodel s/0perator, Js() §194896% 0w 8260 OU%
PPAtRS (1 Arfap gidstasy u» 83 U
b _proto__ t: 97242 oxN! s on
by i aystes / Map §TINS 0% M 0w
11 12 01 piilemame i " LT T JNcowon/mede s/ Cperator, i85 PLISISS 0% M 0w
bid o MUSLIEN s/ coomony/medels Sdperator. i3t §133455 0| M On
>loaded 1! system / Oddvell @53 0% 8 0w

(D@~ e > D WO DU ~D N DD S ® D
SERRBRYNBEBETRBSBIEERS

»[228] 1! Module QIOESHST

U% 1695080 '™

AEEREE XR4UE  NIREAE

aIEEm 1
“Module" RfF|"@14727" S T172321048(81.46%) 2V . HAZ T ERRE "Array" LH 62016689,
ETL

Module
Array




nst Operator
School
User

OperatorMenu equirs ./OperatorMenu.ijs');

@ require(‘./B")

add reference Model .prototype.gel

to Mod A.children
_ et where = [
@ not exists ['service', '=', service],

['userid', '=', userid]

return school. | 1() .w
add cache

require.cache[require.resolve('./Operator.ijs')]:
require.cache[require.resc

require.cache[require.res:

require.cache[require.resclve(', /OperatorMenu')];
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| W4T Vue

*

beforeMount * mounted




use strict';
vue
Server

renderer

app = Vue({
created() {
setinterval( 01

.),-

server.get

template: <xxx></xxx>

D;

render.renderToString(app, (

D

;(process.pid) ) ;



| W4T Vue

i

2018-046-01 14:12

! rss 437.42MB
® heap_total 406.85MB
® heap_used 29740MB |

/':

-

—

AJEEA 1
“TimersList"Zf" 154913 5 754372888(78.4%) F7.

XRF
TimersList

Class Name
v Timerslist 154913
v Timeout @154907
p function = AEERE L S e findex.js() / index.js @1548690
v Timeout @103851
> function ; e e e e e weay/index.js() / index.js 8103855
v Timeout 2881673
p function SRR /index.[s() / Index.js @881881
» Timeout @154909
» Timeout @I026315
» Timeout @1220567
» Timeout @I021348
» Timeout @I021351

» Timeout @I021358



.
vue

server

renderer

Vue.,

props:
template:

Server.
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